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Utility and Consumer Choice
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Topic 1: Marginal Utility
Topic 2: Budget Line and Indifference Curve




_mn Ginition | Utilit
helps to satisfy a human need.

A2/MICRO — INOTES| — CHAPTER ,

gained from the consumption of a good or service. It

ility: It is the satisfaction

i : ' iven
e |t is the total satisfaction gained from the consumption of g

amount of goods and services.
more unit of

v Tt s the extra utility gained from consumption of oné

her words it is the change in the total utility.
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Marginal Utility = 20

good or service. In ot

1. LAW OF DIMINISHING MARGINAL UTILITY
Jower the utility from

Definition: This states that the more units of a good are consumed, the
consuming those additional units. Example: If a person consumes ice cream bars the first bar will
give him more utility and as the consumption goes on the second would give lesser satisfaction.

In order to understand the concept let’s look at an example:
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P
1. Marginal utility and derivation of an individual demand schedule
If marginal utility were measured in terms of money then the MU curve would be the persons
demand curve. A rational consumer will tend to maximize their utility from consumption and in
order to do so will try to consume at a point where marginal utility equals price. As long this is
maintained the individual demand curve would be the same as the marginal utility curve.
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In order to understand this let’s look at the diagram below: ZPDVLI\ 0 clihed
e i Co| umpho b ”
4 MU > P .SUMV ] (4
) o ex. _g ;,, ppe, s
WX
3 o et
2 - gt MU<P Ol j ‘F
Ql
14 :
MU=D o)Qm
h 6 8« mcwd
00 2 4 6 8 10  Ouniny +OCV'VI‘L {'k e

- MU > P: If the marginal utility is greater than the price of the product the consumer would tend
to increase the consumption of the product because the benefit or marginal utility is higher than

the asking price.

- MU < P: If marginal utility is less than the pnce of the product the consumer would tend to

decrease consumption of the product becatse the benefit or marginal utility of the product is

lower than the &kmg pnce — . i i, 3 ,;«J i
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Conditions of Dlmmlshmg Margmal Utlh / ASSV ”P} ke .mA-m] BIEE |
In order for the law ta hold the following conditions should be met:

Condition. . Description -
1. Quality The quality of the goods should remain constant otherwise if the quality

improves people might consume more of it or if the quality drops they
might discontinue the product.

2. Quantity A reasonable quantity must be decided for the product. Example: If utility
of chocolate is being measured then a bar should be considered than a
small piece.

3. Ceteris Paribus This law only holds while assuming everything else like taste, fashion

' weather etc. are held constant.

4. Continuous use There should be a continuous use of the good which a consumer is

| Succ@Miue. | consuming.
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2. LAW OF EQUI-MARGINAL UTILITY . ) ‘ )

In diminishing marginal utility, we were only looking at the impact of a pncg”ch;ngetce)n one
good. The marginal theory can also be used to explain h0\_N the consumers wi alloca
expenditure across all goods. This is called the equi-marginal principle.

The quantity chosen of one good affects the demand for the other, given a limited budget to of
spend it is not a simple question of setting MU=P, as decision of one good affects the position
the MU curve for other goods due to the linkage of budget constraint.

iple: A rational consumer is in equilibrium when he spends

his fixed income on different goods with given prices in such a way that MU of the last unit of
money spent on each good is equal.

U U
MUx MUy av o MY
| Px Py -~ g f
MUXx = Marginal utility of Good X F \
MUy = Marginal utility of Good Y mere# _27
Px = Price of Good X cony A
Py =Price of Good Y ‘ WL\Z/
mw

Situation 1: Price of Product X Falls
If the price of Product X falls the equation would be structured as follows:

MUXx MUy

> = §

SPX O PyiEy

This shows that the last unit of money spend on X is greater than Y. Hence the consumer wold
tend to consume more of X. However the law of diminishing marginal utility would come in and
with every unit consumed the MUx will fall until the equalityé\is restored.
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Note: This also explains‘the reasons that when PriceN Quantity; Demanded

Situation 2: Price of Product Y Falls

If the price of Product Y falls the equation would be structured as follows:

MUx MUy

Px Py
This shows that the last unit of money spend on Y is greater than X. Hence the consumer would
tend to consume more of Y. However the law of diminishing marginal utility would come in and
with every unit consumed the MUy will fall until the equality is restored.

Consumer strategy to maximize utility

Situation 1 Situation 2 Situation 3
MUx MUy MUx _ MUy MUx _ MUy
Px Py Px Py ) Px Py
- Consume More X - Consumer More Y- _ - Quant!ty X unchanged
-Consumer Less Y - Consumer Less X - Quantity Y unchanged

AATIK T!Amw {* A‘ZI / LE‘\IIET' E)COI;?MIC.S ﬁg)s) |03g4112284 QMM .'
ng%,: ol Ep mgo‘&‘ju}m



ol L,

Limitation of Marginal Utility Theory
Factor

~ = ]
1. Utility cannot | It is difficult to measure utility because there is no method to do that. Further al,- W
be measgxred utility can neither be added not it can be compared physically. l (Ml M
2. Ceteris In reality things don’t remain constant and consumer preference, incomes, €1c- g
paribus changes with time. This can lead to new consumption habits which might
have an impact on consumer satisfaction
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Description

3. For some For some goods an increase in consumption actually leads to an increase 1N
goods utility utility. Examples include money, collections, land in some cases an owning 3
_goes up collection tends to increase value.

4. Durable This is difficult to apply to durable goods as they are not continuously used-
Goods Specially for diminishing marginal utility this law is important.

5. Consistency | The assumption holds that all the goods are similar in nature, however that

of goods

might not be true. Example: If the consumer is eating an apple, the- guallt)’
might be different in successive units and depending on that the utility may be
more or less than the previous one. _

6. Consumers Sometimes consumers are not rational as they buy goods on basis of _lmpulsf
are not rational | or even indulge in conspicuous consumption. Hence they are not basing their

decision on marginal utility. 4

MU B
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TOPIC 2: BUDGET LINE AND INDIFFERENCE CURY ESC

| Lecture 2 | 1. BUDGET CONSTRAINT / BUDGET LINE _ ]
Definition: A budget constraint is constructed on the basis of consumer 'Tlcogzible
be shown graphically through a line called the budget line which shows all p . Any point
combinations of two goods that a consumer can consumer with the gnven inc md e ith the
~ within the budget line is affordable and any point outside the budget is not afforda
given income and prices.
Units of Good Y

and prices. It can

Income = $100
Px = §&
Py = $10

Units of Good X
1. Shifts in the Budget Line
The budget line can shift due to the following TWQ reasons:
Income Changes — Parallel Shift Price of a Good Changes — Pivotal Shift

-Since the good is more expensnve less of it
would be consumed with the given income,
hgncc inward pivotal shift. [10Y & 10X]

. Price of Good X Decreases
Smce the good is cheaper now, more of it
would be consumed with the given income,
:% hence outward pivotal shift. [10Y & 40X)

Quaresy of Good ¥
s, r
=\ Er

‘Quartity of Good X

reld

AATIK TASNEEM | A2 / LEVEL: ECONOMICS (9708) | 03041122845 m I




A2/ MICRO — [NOTES) — CHAPTER |

2. INDIFFERENCE CURVE ( will )
Definition: It is a curve that re

ac presents the combinations of two goods that give equal utility to a
consurf\er. The mdlfference curve has several properties: 7 i
:;a{indlge;ence curve for two goods slope downwards: This is because the a consumer can

¢ ofl the satisfaction received from one of the goods against the other. In other words if he
consumers less of Good X then he need

utility s to consumer more of good Y to maintain the same level
ihity.

-2 :
| MRS Z2draity i aut
2. Indifference curves are convex to the origin: This is because the magnitude of the slope

dg:rease; as we move towards more of Good X and less of Good Y. This can be seen from the
diagram below initi_ally as in the start the consumer was willing to give up 1 unit of Y for 1 unit
of X, however as we move down the consumer will give up lunit of Y for 2 units of X.

Definition | Marginal Rate of Substitution: This is the slope of the indifference curve, the rate
at which consumer would be willing to trade good X for good Y. The convexity reflects a
" diminishing marginal rate of substitution. This suggests that when consumers has more a good

and less of the other he is willing to give more of the good he has just for one extra unit of other
he lacks.

3. Indifference curves cannot intersect: This can be explain through the diagram !)t?lOW. A§ we
‘see that there are two indifference curves U1 and U2. If we consider point B, the utility at point
B U(B) equals to U(A) and U(C). Based on this. U(A).= U(C) however this cannot be true

because peint C has more bundles of goods has gretitc; utility than Point A. Hence curves cannot

—;4
3
[}
a:\
3
£2
c
/ S
g4
11 1 1
o 1 2 3 4
Quantlty (cups of coffes)

4. Higher the indifference curve higher the utility: The consumers always prefer more to less

and based on that he would maximize this utility by reaching the highest possible curve that he
can reach. As we see from the diagram below that IC: brings higher level of satisfaction than IC;.

Y
4

'Goodv
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Definition: In order to identify the equilibrium, we need to define the possible a ord?ﬁ' e
q) p [ @  consumption bundles (Budget Line) and then identify the most preferred bundle (Indiffere
[ C Curves) among all the affordable bundles.

rae b Y oad Y
% [,ww lej_ M

Good Y

IC3
IC,
IC,

(0] GoodX M

- AtIC1 — The reasons IC1 is not chose
less preferred to the bundles on ICa.

X

n because even though it can affordable bundles they are

- AtIC3-Even though the satisfaction is higher on 1C3, however none of the bundles are
affordable.

AtIC2— As we see from the diagram that the equilibrium is at point P which is the most
preferred affordable combination of goods. This is a point where the highest attainable

[%&'.[’J/ ‘%h{ap”'?i 0 Ld) A2/ MICRO — [NOTES] — CHAPTER 1

indifference curve is tangent to the budget line.

Lecture 2 l

4. SUBSTITUTION AND INCOME EFFECT
Definition | Substitution Effect: This is;the effect that states when the price of good falls, the
consumer tends to shift consumption from the expensive good towards the cheaper good.
Example: If the price of Good X decreases, an individual would shift consumption from Good Y
to Good X. Substitution Effect always acts to INCREASF the consumption of the product

e el A T, 8 e @ B YR

Definition | Income Effect: This is an effect that states that when consumer changes his
consumption of a good with increase or decrease in their real income. As when the price of a
good falls the total expenditure on the original bundle decreases hence there is an income effect.
Income effect can entire INCREASE or DECREASE consumption when price falls.

Note: The combined effect for Substitution and Income effect is known as Price Effect.

There are THREE types of changes:

1. Changes in Price

2. Changes in Income N

3. Changes in Non-Price Factors (Advertising)

1. Change in Price _ N .

1. Nonngl Goods — SE is Positive and Income Effect is Positive [Quan.tlty of Good X 1]
2. Inferior Goods — SE is Positive > Income Effect is Nega'tive [Quan_tlty of Good X 144]
3. Giffen Goods — SE is Positive < Income Effect is Negative [Quantity of Good X V]

7——\/_
lAATlK/T:\SN,EBM l A2 /LEVEL: ECONOMICS (9708) | 03041122845




Normpl SE | sonediectm ) fined placemed of berb—>
‘;';"JJ |c«J move (¥ FM!E blv a=b

°’J & ;'Lge.("} - -

i
e '9"' S& Jop i dveckn :) placas
,/A2 / MICRO — |[NOTES] — CHAPTER1
1. NOI"l-nal Goods - SE is Positive and Income Eﬂiecl is Positive [Quantity of Good X P]
Definition | Normal Goad: This is a type of good i

O 1 C. NJ Ta
‘th ' { ,
3}\“ Se maWl 1 7 ;la(eu/o‘sliﬂnc
v 0 <
/
i which the income effect is positive. As the
income goes, the demand for the good increase. "<

Good Y

Q:‘ Q Q - — Good X
— substitution effect

+—» income cffea : J

2. Inferior Geods — SE is Positive > Income Effect is Negative [Quantity of Gooq XM
Definition | Inferior Goad: This is a type of good in which the income effect is negative. As the

income goes, the demand for the good decreases. However it does not out way the positive
substitution effect.

Good Y

TR o e A By o o o om @ s
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3. Giffen Goods — SE is Positive < Income Effect is Negative [Quantity of Good X V]
Definition | Giffen Good: This is a type of inferior good that has a negative income effect that
does out ways the positive substitution effect. These are special type of inferior goods (Example
Bajra is a giffen good compared to wheat) which have a very expensive substitute and consumers

major proportion of income is spent on them. It has a positive relationship with price. [Violates
the law of demand]

LEM ST

Definition | Veblen Goods: These are goods that have a positive relationship with pri i
: : . . rice. A
increase marks higher quality and therefore higher utility. Example: Luxur)? cars (?lot:ing tl:t:cc

Cood Y
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2. Change in Income

1. Normal Goods — When income increases | Both Cola and Apples are Normal

Bottles of cola
w

Iy

IC, '
BL,, 'C‘\BL,

0 2 4 6 8
Apples 10 12

2. Inferior Goods — When income increases | Apples are normal and Cola is inferior

Bottles of cola

10 12
3. Change in Advertising
Increase in Advertising of Good X
3
o T #“ Curwe
all other )
200ds bl o

MRS increases
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